
 

HANDHELD BLOWER 
HOLDER 

ASSEMBLY 
INSTRUCTIONS 

 

 



 2 
Jungle Jim’s Accessory Products, Inc. 550 O’Byrne Avenue, Louisville, KY 40223   

1-888-844-JIMS or log onto the web site at www.junglejimsap.com                                                                                   HBH Instructions, Rev. 12.4.17 

 

HARDWARE 

ITEM # QUANTITY PART # DESCRIPTION 

1 1 MAIN FRAME Frame Assembly 

2 1 HBH-MC WELDMENT Locking Weldment 
3 2 Vinyl-1.00 1” Vinyl Cap 

4 2 Vinyl-3.75 ½” x 3 ¾” Vinyl 
5 1 GC-HOOK Trimmer Rack Hook 

6 1 ATR-LN Locking Nut 

7 2 104 3/8” – 16 x ¾” Carriage Bolt 
8 1 206 3/8” – 16 x 2” Flat Head Socket Screw 

9 2 302 3/8” – 16 Nylon Lock Nut 
10 1 823 18” Bungee Cord  (Not shown) 

 

 



 3 
Jungle Jim’s Accessory Products, Inc. 550 O’Byrne Avenue, Louisville, KY 40223   

1-888-844-JIMS or log onto the web site at www.junglejimsap.com                                                                                   HBH Instructions, Rev. 12.4.17 

ASSEMBLY 

 
1. Attach the blower hook to the blower holder using the 3/8”-16 x 2” flat head socket screw (206) and the locking nut 

(ATR-LN) as shown in figures 1 & 2.  Place the end of the hook through the eye of the spring before securing with 
the ATR-LN to the locking weldment. 

2. Select a suitable location on your trailer for the blower holder.  Make sure the blower does not interfere with the 
trailer rails or mowers when loaded.  Mark the location of the 2 holes in the bottom of the blower holder on your 
trailer.  Drill 3/8” holes at each location and attach the blower holder using two 3/8”-16 x 1” carriage bolts (104) 
and two nylon lock nuts (302).  

3. Place all vinyl sleeves on the proper hooks. 
4. When transporting your blower, use the optional bungee cord (included) to reduce movement of blower in unit. 

 

 

 

 

 

 

 

 

 

 

Figure 2 


